Worksheet # 5 Name:

Date: 29/09/2021
Math 1A: Fall 2021

Problem 1

Find the following limits
1. limg, oo V422 4+ 32 + 22
2. limg o0 V422 + 37 + 22

Problem 2

Find the equation of the line tangent to the curve at the given point of the following

l.y=a2>-3z+latzx =2

2x+1

o) atx =0

2. y=

Problem 3

Evaluate the following derivatives:

(
2. flt)=2t3+1
3. f(t) = Zttisl
4. f(z) = ==
Problem 4

Evaluate derivatives using product/quotient rule:
1. f(z) = tan(z
2. f(x) = sec(x)
3. f(z) = csc(x)
4. (HARD) f(z) = arcsin(z)
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